XYZ,,=96.42 , 100.0, 82.49 Yan=[Y-50]/50
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6 Ostwaldcolours (o)
of maximum (m) C,
linear colour space Cyg 5. Y)
lllumin. D50, Y, =10ﬂ Y\ =10
Name Range X, Vo Z, Xy, 2 X
R, 570_775 68.08 46.05 837 05557 0.3759 598 491,
V4957758445 94.64 12.16 0.4415 04948 573 468
G, 496_570 26.11 58.68 12.12 0.2604 0.6055 538 538

C, 380570 38.08 64.05 82.46 0.2063 0.3469 491 538 Parameter:
B, 380_496 21.71 15.46 78.67 0.1874 01334468 573 Y & Name
M, 570_496 80.05 51.42 78.71 0.3808 02446 538538 i
570,
W,,380_775 96.42 100.0 8249 0.3457 0.3585 100% Nluminant DSO
N, 380_7759.64 100 824 03456 0.3585 10% Y,=10Q Y, =10

7, 380_7751735 180 1484 03457 0.3585 18%
BEP70-2A




